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Paper I

Section Id : 517144177

Section Number : 1

Section type : Online
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Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

0

1
517144545
Yes

null

Question Number : 1 Question Id : 51714413393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The rote memorization of facts and hites of information is characteristic of which level of

teaching:

HETEeS ardare KD S o o "é}jé’é e)Bian

- -} m
Options :

Memory level of Teaching
AR %{'ﬁé ?88

1.+
Understanding level of teaching
Hae odHih L8
2. % " *
Reflective Level
[288on LS
3. % =
Dynamic Level
Bair4D 28
4. @

Question Number : 2 Question Id : 51714413394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This method of learning combines online learning with face to face learning?
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Options :
Reflective
[Ea8on
Blended
Sndsno
2. ¢ -
Case Study
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Simulation
[ETavate]e)

4. ®

Question Number : 3 Question Id : 51714413395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a diagram for representing tasks, works, concept or items linked to and
arranged around a “Central concepts or subject”
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Options :
Prop
5
1. %
Chart
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Mind map
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Slide
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Question Number : 4 Question Id : 51714413396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In evaluation this term is applied to the expression of opinion or judgement
regarding some situation, object or character and is quantified
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Options :

Cumulative record

Hod&E Bseb
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Rating
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Checklist
38D
3. F )

Observation
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Question Number : 5 Question Id : 51714413397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The organization established in India to conduct Computer Based Testing (CBT)
for exams like UGC NET, NEET, CPAT, efc is

UGC NET, NEET, CPAT 3n&eit é_oaijvgé.)ﬁ earbes 565%@26) Dsneaso %;&Ozﬁa}&é 3’30?’8

Options :
National Testing Agency
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Mational Exam Board
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Question Number : 6 Question Id : 51714413398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This philosophy tends to believe that logic and reason are the means of acquiring
knowledge
%m% Hoarbodher SEim, T°EH ®BHBNN g

Options :

Experiment
[FSTenvilatvs)

1. ®

Rationalism

L o rdmsEn

Observation
3 % HB8ew

Theory

B\
4% mcgoém

Question Number : 7 Question Id : 51714413399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



This type of research involves collecting and analysing numerical data.
& B8RS 568858 Dogry Kepodo ~EBoSKo Hban DFNoSE0 sthiHiod.

Options :

Case Study

L= 260:‘,565 5683

Quantitative

K}Beﬁjﬂaamégéo
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Focus Group

- FPED Hduesco

Hypothesis testing
4 % DBy ééé

Question Number : 8 Question Id : 51714413400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a summated five point rating scale
=b $08% b srowody TBorH e
Options :

Likert Scale
F2085 open
1.¥ =

Stapel Scale

- %}5’;}5 ﬁ}&m

Thurstone Scale
3 % OB ‘;qo‘zre):.%

Guttman Scale
4% ReSEnS 'cso@m

Question Number : 9 Question Id : 51714413401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Principles and guidelines that help us to uphold the things we value are known as
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Options :

Etiquettes
L % SHoegeSen



Manners

. CITTUPED
2. %

Ethics

3 Hetoen

Morale
4 % 2880

Question Number : 10 Question Id : 51714413402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which is the theory that states all knowledge is based on experience derived from
the senses?

ofy ﬁﬂo@dﬁ?@ ol Trody ©dgrHon eprdHl &0t Ei‘ﬁ}qj Slaidelle b?

Options :

Rationalism
” Tr&arsHn

Research Paradigm
588558 OB D

2.

Empiricism

2ohd a0
3.9

Metaphysics

DerHREy
4.
Sub-Section Number : 2
Sub-Section Id : 517144546
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 51714413403 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

15008 (Bodd askpdsd Ssrardo egrdore Q. 11:&06 Q. 15 (HHod Ssrgraro
[Erahod.

It was about this time | conceived the bold and arduous project of arriving at moral
perfection. Wished to live without committing any fault at anytime; | would conquer all
that either natural inclination, custom, or company might lead me into. As | knew, or
thought | knew, what was right and wrong, | did not see why | might not always do the
one and avoid the other. But | soon found | had undertaken a task of more difficulty than
| had imagined. Habit took the advantage of inattention; inclination was sometimes too
strong for reason. | concluded, at length, that the mere speculative conviction that it was
our interest to be completely virtuous was not sufficient to prevent our slipping; and that
the contrary habits must be broken, and good ones acquired and established, before we
can have any dependence on a steady, uniform rectitude of conduct.
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Sub questions

Question Number : 11 Question Id : 51714413404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The journey towards becoming morally excellent is highly
IBEOT |FA NI ST | DASTLR0 TeT

Options :

smooth.
L% NVETAVIS TN A

poised
ESERCIETNVINIA)

simple
DEFIE

3. %

demanding
4o VBRI A



Question Number : 12 Question Id : 51714413405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The phrase: “inclination was sometimes too strong for reason” means
[, 08 eSS 50 OTIR” @ HSOFRE o

Options :
The author could resist his habits

- Srioned 50 e OB HOM™ED

The author moved towards his habits

, v OO0WS S o) By SOh Ter )tk

The author listened to his reason

s SO0 ED €50) TR ) (8

The author was motivated not to get back to his habits
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Question Number : 13 Question Id : 51714413406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

According to the author, one must to prevent us from slipping
back to old habits.
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Options :

have character
DesEed Gsomd)

be virtuous
e
VT GOTE)

develop good habits
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avoid bad company
W AT Tara)) Wardowd)

Question Number : 14 Question Id : 51714413407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author realized that habits keep coming back because of
& EETO 30 @@arED 38 ScNmT) AbA) STiane [Horowrt



Options :

inattention
1o o HQ
temptation
, . 08
attraction
2 % es50e
liking
4. % A0

Question Number : 15 Question Id : 51714413408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The word ‘rectitude’ means
“Te3 PO Y55 50" @R DR e9do

Options :
moral correctness
L VIO Erdd

firmly held belief
GG dadg50

2. %

spiritual elevation
esrsed8 Tad) €550

3.

charity
4 % Y550
Sub-Section Number : 3
Sub-Section Id : 517144547
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 51714413409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Voice is adjusting the pitch or tone of your voice to help your listeners to
clearly hear and understand your speech.
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Options :



manipulation

modulation
2T, e hew
2.+ '
variation
EVATEVIN
3. %
deviation
4 % TS0

Question Number : 17 Question Id : 51714413410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Rapport development is a communication skill that focuses on building and
maintaining __through effective communication.
NI @830 R NeNFI0H T ajﬂ‘fa{)giédem D°50° BAW
DH0BSOBOM DBLFOI0D 999 00T 2rsssd 58¢ea
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Options :

Human relationships
SIe30d AI02IOTIEW

Membership
, x VB0

Individuality
iS¢ e
- 2£5e5 20
Independence
4% 2250250

Question Number : 18 Question Id : 51714413411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Business transactions, salary benefits and partnership deals

happen through proper__skills.
LTS ETTTICD, 250 DOOI (DTN DO 2PHRF o0 8 2,005 e
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Options :



crises management

w, “
L% DOEre NG e

time management
) % NCGHO DB S
negotiation
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Interpersonal
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Question Number : 19 Question Id : 51714413412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Being in communication helps in people being acknowledge and appreciated.
NI RSO TP €000 5065 |H2en @0NEB0TR0 SO
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Options :

Courageous

| AT 0

Courteous
) SNTEO

Aggressive
SrBoch

3. %

Passive

L % 21, 080°¢5

Question Number : 20 Question Id : 51714413413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

To establish tfrust among teammates, one needs to he

T TIRE) NEE NaNFR) BOE® T8, &58e550 Somd)
Options :
Generous
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broadminded

RSPV,

transparent

PGS G83065
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grateful

gocd2iehed
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Question Number : 21 Question Id : 51714413414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

5: 150 =3: __
Options :
L= 68
. % 72
78
3. %
36
4.

Question Number : 22 Question Id : 51714413415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two frains are travelling in opposite directions at speeds of 72km/hr and 54 km/hr
respectively. They take 10 seconds to cross each other. If the two trains travelled in the
same directions, then a passenger sitting in the faster train would have crossed the other
train in 24 seconds. The length of the trains, in metres are

Do B SO 7280/0 oo 54 8o Fiod 53808 oIS
(DOSPEINT) 0N, €98) 2.ETVFEE N8 10 DEW DR, Boch TR 2.3
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Options :
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230, 120
4.

Question Number : 23 Question Id : 51714413416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Gopi invested a sum of Rs. 42,500 at a certain rate of simple interest. He finds that the
interest payable to him by the bank increases by Rs. 55,250 when the rate of simple
interest is increased by 10 percentage points. Find the period of investment.

AfS 6°.42,500 Bndinid Eo8 Srprdes 56 Sms® Depabre DT, Foede; HE0D
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Options :
1 year
L e 100383000

22 years

) % 22 S0oded yBanen
13 years

3 o 13 D03 8000

can not be determined
EDFSS50

Question Number : 24 Question Id : 51714413417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Saroja has successfully divided a number N, 3 times by the least number X which
when divided by 8, 5, 4 leaves reminders of 1, 2 and 3 respectively. The reminder
when the same number is divided by 49 is

5823 N S0 D2saHS0e0m 3 ard 55 doms X & arfody, TN
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Options :
| % 12
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canot be determined
ANV TN BTN

Question Number : 25 Question Id : 51714413418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The standard deviation of the observations 8,12, 4 16, 20, 28, 32, 24, 36, 44, and
40 is

8.12,4 16, 20, 28, 32, 24, 36, 44 .00 40 HBYeS Q308 B0

Ddedsin

Options :

Question Number : 26 Question Id : 51714413419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain language if BRIEF is coded as 17 and CLOCK is coded as 29, then the code for TSSET in that
language is

&8 DY grd® BRIEF & 17re, CLOCK & 29re 8% Johadd el

osgens® TSSET % &8

Options :

25
1. #®

37
2.

47
3. %

34

4. %

Question Number : 27 Question Id : 51714413420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of



Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The odd one among the following numbers is
% Bob 78S HBed D08y

Options :

65
1. #

91
2. %

104
3. %

142
4.

Question Number : 28 Question Id : 51714413421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements: Some rings are circles
No circle is a square

(PHSTren 1 B dodiren Hmmen
o) dfo SSBHo =

Conclusions: |. No ring is a Square
Il. All rings are squares

Swhod o Hecho SHBKo 5ot
IL.eod)) Berairen Sed|Den

Options :
| is true and Il is false
| a;{n;j F0Baso [l és’ga
1. %

Both | and Il are true
Soto | sobdiw Il en 'aJ?’.gD

2. %
| is false and Il is false
| éfga Evalein il ﬂw@
3.

Both |and Il are false

W Both | svdaciw Il en éogD

Question Number : 29 Question Id : 51714413422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In the following missing group of letters
% Bob B &DodH ®Eore DaPsT0

JUMP: MWPR: HUNT:

Options :
KwWaQVv
JWRU
KWRV
3. %
JXPU
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Question Number : 30 Question Id : 51714413423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following diagrams represents the relation among Musicians,
Instrumentalist and Violinists ?
S (8ol ampid He08t DB Bohidsten, aronigsehen, HAPD Doegoe

S0gisHie Homoged)) KHrdinod?

Options :
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Sub-Section Number : 4
Sub-Section Id : 517144548
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714413424 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)
Question Label : Comprehension

Note: Answer the questions 31 to 35 based on the data provided below.
HeDNE: OHNS @o0HONS ST0Fsn eSO 31 A0G 35 (D) O HAFTTren Tohod,
The following table represents public sector outlay ( in percentage)
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SNo Plan Agriculture | Energy | Industry | Others
0T DE SIS EOW 48 DHOIFS | =esS

1 Fourth Plan =€) (2e @4 20 25 10 45

2 Fifth Plan &6 |se7 @3 20 20 25 35

3 Sixth Plan esded e @ 25 30 15 30

4 Seventh Plan 0% (e P 25 30 12 33

Sub questions

Question Number : 31 Question Id : 51714413425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
During the 5% plan 65% of the amount spent in the Agriculture sector was through private
investment. If the private investment was 5.200 crores, The total outlay of the 5 plan is
58 |DETDES S1drroh dofos i) TAS Do’ 65% R DEPDSA 00 20805,

!

I DRE EP 20 5,200 5LV S0, 5 1DeTPE [odo Hsoho

Options :

8.000

24,000



40,000
3.

32,000
4. %

Question Number : 32 Question Id : 51714413426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
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5% plan and around 1 lakh cr in the 6% plan. The

Public sector outlay was 40.000 cr in the
percentage increase in the amount spent towards Energy sector from the 5% plan to 6% plan is
15806 s SO S5O0 55 (DT DES’ 40,000 ECD SHOAD 665 (DEFDES’ 0SSP 1 ©F Few. 55

o A, £ o £ =, W ; -
e, D0A 605 (DT PE 55% 208 SomdE i) TS Fndods HHOe Tdo

Options :

40%
1. %

380%
2. %

275%
3.9

26%
4. %
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In 7% plan, the amount spent towards industry was 26.400 cr. The amount spent towards
transport and communication. if it was 40% of others, is

75 |HeFDES HBES 550 BA0DS Bneo 26400 §EW. Sarer HBCKD EriDBAS §0
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Options :

29.000
1.+

22,000
2. %

88.000
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Out of the four sectors given. how many sectors showed a consistent trend ( increase or
decrease) in the allocation between the 4™ plan and seventh plan.

<6 o, £ L o, o, = A 5 .
2D TNl oo, 48 (HErPE HOAD ¢ (HDFDE D TEronoD S D) domren
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Options :

0
1.+

1
2. %

2
3. %

3
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During the 4% plan and 7™ plan. the total public sector outlay was 16,000 cr and 2.2 Lakh cr
respectively. The percentage increase in deployment of funds was the maximum for which of

the following sectors from the 4 plan to seventh plan?

485 |HeTDE B0 75 (HeTPES’ Bdo 1DHE0es s B0k H0H0 ST 16,000 §EW HOAED 2.2
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Options :
Acgriculture

L v sifsEglevilel
Energy
1

2.

®



Industry

J‘\ A, “\
3 % @0@E

Both Agriculture and Industry

D537 r0H0 0O HOFen Todr
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Sub-Section Number : 5
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A Byte is made up of
Be5 edre
Options :
4 bits

8 bits

12 bits

16 bits
4. %
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HTML Stands for ........
e BhE 0f @dre

Options :

Hyper Text Markup Language
00 85 &56) oo ePOTIgE

Hyper Text Makeup Language
56 E% hEeD EJDOF%DQJEE

High Text Markup Language
7 85) 5rb) ©b eroriE

3 @



High Text Markup Location
7 8§) &rf) 05 &S5S
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A web based graphical environment on computer networks is
38 oprdd Boirstb 3858 BgreHer Slopvalelhaw

Options :

Wide World Web
36 55 3

World Width Web
558 O 36

World Wide Webb
558 36 35

World Wide Web

, o 358 36 35
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E- Pathshala is the platform of which organisation?
a- FrEFes® BIHS Soges® 38 J6%

Options :
CBSE

) NCERT

MHRD

. KVS
4. 8
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The purpose of ICT use in educationisto .........
8]&656‘5 ooé s ﬁ@%&"m

Options :
Attract students
| x Dugthed «sfodhe

Make teaching interesting

. S5 sd88ore Joine
2.

Optimize learning outcomes

3 o o7 POEeih eEreNthHe

Promote technology culture in teaching
L% 55608 JroBBY Sl Y [@fsmirohts
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Which of the following is/are the UNDP Sustainable Development Goals?
% Bod 08 06/0D 8 oD osgen

Options :

Quality education

L rijsavééé éfjtﬁns

Gender equalities
, % Do ézﬁjva‘ééoga‘m

Quality education and Gender qualities
;‘1}&:;%5&5 D s0BASD Horl HrHEo

Quantity Education

é&é:ﬂmﬂé@é Lig
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One of the anthropogenic sources of gaseous pollutants chloroflucrocarbons
(CFCs)inairis..............
DS 2.8 HrsS ey arciusrensyy B8 st S5)( CFCs) @ng) $5%

Options :



Cement industry

. @ehotn HOED
1.

Fertilizer industry

S HEED
2. %

Foam industry
§ha0 DB
3. ¢

Pesticide industry
sndorshodhe H5E

Question Number : 43 Question Id : 51714413437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Global warming can be contfrolled by ..................
(BHotargione 53&&&}5} S8 Gore NoHolBowleii
Options :

Increasing deforestation, reducing efficiency of energy usage
e QBen Dohe ooe, 48 éi”o’}(ﬁj‘?ﬁ‘%“'é}[}gg@c}_ &hoher Tegoe

1. %
Increasing deforestation, slowing down the growth of human population
5 & = :
. @£33) g\}éﬁéﬁﬁé 20tHe) TP, PR ﬁmavéy@ é@oiﬁaé& apNel
Reducing deforestation, increasing the use of fossil fuel
©68) E'Oé]‘g@?ﬁ éﬁozﬁjéa tqoe, Bewes mOFN0o DoWE TTe
3. %
Reducing deforestation, cutting down the use of fossil fuel
©E8) g.flé:“éﬁ)?ﬁ e‘éﬁoﬁjéa oo, Bere: moddo srEEo e‘ﬁﬁoiﬁj&) Cyqo°
4.
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The main composition of biogasis ..........
DR Sngy i)

Options :



Methane

1. v DTS
Carbon dioxide
St alon A
2. %
Nitrogen
SN
3. %
Hydrogen
B
4. ®
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The United Nations Framework Convention on Climate Change is also
known as......

TErdts SrtnD oIBE JUT) 55355 S & DPore P @okrdh

Options :
Kyoto Protocol
B&5® [@EePeed
1. %
Vienna Convention
- DaHawy éSEB’gﬂE
Earth Summit
goe [DaneS
3. ¢
None of these
250 =D
4, %
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Which of the following is/are writings of Chanakya?
& 61D S8 2D oreanlind) Siiden

Options :



Arthashastra
@éaﬁm
[n]

Ashtadhayayi
@%{;}0505}3

Rajatarangini
orassiioRd

3. %

All of the above
25D
P B
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The First Commission for Higher Education in post-independence period in India was
headed by.......c..........
%ﬂ;ﬁe‘ﬁolégo EBars sceodd DB &inE Do g SngrgHsed

Options :

Maulana Abdul Kalam Azad

o @apd Serin e@sed
1. ® 5

3. Radhakrishnan

- . UGQD@%E

D.S. Kothari
3 % 8. on. B°eB

None of the above

2 0% 508
4. % =
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Which is the most appropriate method to teach vocational skills to students?
Derghord d 58 SPdegmend FHoher b DERD [HIwDS HPS
Options :

Role play
Lx B8R



Discussion
B3

Experimentation
25y 280855
3. ¢

Demonstration
B5rS @m
4, ®
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National Education Policy 2020 recommends ..............
80D Horg Hprsdn 2020 HardH DANHG

Options :

Multilingualism

L 20erEn, DN

Monolingualism
o8 P Dprddm
2. %

Standardization of curriculum
, % FOF0S [DEsrhEte

Standardization of assessment

20805 @amﬁégaﬁm
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International Environmental Education Programme (IEEP) has been launched by .........
@Oe‘ﬁUag@cﬁj 20egRses ST Svdél‘éemm (IEEP) E’}f)% Bl

Options :

ULO
1. %

UNO



UNICEF

UNESCO
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“If education was identical to mnformation. the libraries would be the greatest
saints of the world and encyclopaedia the greatest rishis”. Who said this?
283 D HEPTro&” HBIETEDB (Hopreadires [Hodomrds Hnide®oBd

80 ASpEDEETen Hfanihen HoBDHD BEPBHE?

Options :

Swami Vivekananda
&;‘}é‘b Ddsbols

Tagore
2. ® [oLTadila]

Gandhiji
robd

Aurobindo

4% etElothtd
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The gap between material culture and non-material culture is known as
NG DolFpS Sddn HRSs Mo B8 e wodoe) 3096 06?

Options :

Cultural shock

L% 2»’3015’)@% Mo

Cultural lag

v ‘f}o{‘_:ﬁ@e'_% Deodid
2.

Cultural pluralism
Do S androgEo

Enculturation
éo{jﬁ@@ééc’a
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Which one of the following processes is the main task for computer mapping
the geographical data?
BoB DS Eourgeod S DBEEes® FRGE SSroroedE Sirodd (HBH 26?

Options :

Data storage
D aroeR)) QendDahiso

Data visualization
HETet tﬁejﬁ;géésa

Data retrieving and drawing
S&maes oedes b DBEBoSLo

Data collection
Shmaed SEde
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The records which maintain the description of significant events of works of
students 1s
(8o Q&P :‘i)t;&véd]o@ EALA] ) éé{gﬁ@fﬁi 39S [Frogs K 5o Do
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Options :

Cumulative record
Hod& 6?6{%

Portfolio

Ao (DS egrTreid iﬁjﬂﬁ)&gvrrfg
2. %

Anecdotal record

e
s S0P

Rubrics
SIS
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Which of the following are the ideals set forth in the Preamble of our
constitution?
BoB &P 0% oeezegol (5538% (Preamble) &° @é%oém&&ﬁ SoredrEeen 0d?

Options :
Social. economic and political justice

, ST, ofs Hban oredab Siargahisn
L.

Equality of status and of opportunity
5;50(153 H8cin edseared’ SE VNG TGN

Liberty of thought. expression. belief faith and worship
PRy, H5586es, Sygo, HavHo HBAD TR

3. %

Socialist, sovereign. secular. democratic

e K-‘Jﬁﬁi@, SrOeE s, G°8Y (Hearking ®osven
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Rejecting the concept of “S-R” connectionism, further “S-O-R™ concept
was developed by
*S-R” Jomogo He grard)) 865809, “S-O-R” @3 grHHH a’ae)&o BHBO HE?

Options :



Woodworth
68656

C.G. Jung
C.G. eoh

E.B. Titchener
E.B.as:6

Clark L.Hull
53_5&. 25, 55
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Assertion (A): Qualitative research in India is gaining momentum now a days
and it has a long way to go to attain International standards.

[BBarsS(A): S 5503555“?)065 erddadost ﬁjw“éé?ﬁ HB8RES
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Reason (R): Because the financial support for carrying out qualitative research
in not adequate to meet international standards
s=8e0(R): Dl HHEEIH AN ofd D8S Vihen BEHFSKo S0

@oéﬁo;@di) [Brere @othHE sy Do,
Options :
Both A and R are true and R is the correct explanation of A.

A 58d5n R $8@359. Reds A8 525 58
1. ¢

Both A and R are true but R 1s not the correct explanation of A.

Bokr A HBdin R H8@DHS =00 R A8 485 Dt sth.

A 1s true but R is false
; % Aeadp R&gy

A 1is false but R is true
4 % Aééﬂ)} 5o8) Ra_»éc\))
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Prime Minister’s research fellowship 1s for students pursuing Ph.D. programme in
Hesiol® D68%ar DERS D.375.8 T oo Bod o Soges® ofnoed.

Options :
State and central universities .
o°g) S0Baim SolBch FPTusTos®
1. ®

Central universities, ITT, IISC. ISSERS
5 % SolBaH &%ﬁmgmcﬁjuesﬁ $8asn IIT. IISC, ISSERS et

State and central universities. IIT. IISc. IISER
s ooy SBain Elelaley) &)%Dgamg@cﬁjv@f; 208c3nIlIT, IISc, IISER

IITs and IISc

ITTs 508050 IISc
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The purpose of prognostic evaluation 1s (prognostic)
ApderdE sregosio Gng) @ddso 2end?
[n]
Options :

Giving details of students” progress
3)1:5{:5%)@ @08y (5188 SowohHodd dioren aEo

Predicting future achievement

v Doestie RS PAEES® Qe dotwos’® wodae Sohio

Guidance and motivation
SrgEEso Hbam (e §%0

Classification of students
3)1:5056865‘3) é&é&ofﬁcﬁo
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Which protocol enables users to access web based interactive information
services and applications from the screens of mobile phone

0BSRE 008 I eprds DHden B FEHEHIB D&PTETeR))

(530Sl &eiHE (B s 0e?
Options :



| » FIP

) o WAP

MC

3. %

URL
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Vedic philosophy evolved in the following order
368 S8 Qo (Bod S8HEHosd ©dg)Rodok

Options :

Polytheism. Monism. Monotheism
FOGxD, Irda, SrShoved

Polytheism. Monotheism. Monism

. OB, 3rSFboneS, IrdaS
2. -

Monotheism. polytheism. Monism
SrEdoned, rObe, Frdes

Polytheism. monism. Monotheism
TS, Frde:s, Brtboneas:
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In our Indian Constitution. Article 46 is concerned with
Evitet) Unaaéoﬁmé% @Qéé‘? 46 B8 H020H0DBH
Options :

Women’s education
&
1. % e

Education in mother tongue

5 % a’:ﬁnéejepva’léﬁ Deigoboitio

Education of the socially and educationally weaker sections
3 o rsrdSorr, durgtore Deirngd Hrrod DEgHobosto



Free and compulsory education

&08 %005 D
4, % %O "o
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The psychologist. who constructed the first intelligence test. is
[BEone (He HOE D8O 55355@@&@. TS S5H?

Options :

William James
DOHS By

J.B. Watson
2.8. TR

William Mc Dougall
DOcH HrE KKd

Alfred Binet
4 v OSBE I
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Ebbinghuas had done the pioneering experiments on
QEYORED ©E508 Hurodd HarKEn B0 HBod JeE?

Options :
Perception
é@éﬁ}é&’)})

Emotion
wﬁ%&ﬁm

Memory
}’JGEE_'%

Thinking
9?55
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According to the law of Karma. every karma leads to
8Y) dgrod [Hse8am, of) E8en OHDH..

Options :

Moksha

argo &5%0
1. %

Phala
$080 &850

Dharma

3 % fﬁtﬁéo 8350

Purushartha
?’.gjiﬁa-i—lvgo &5%0

4.%
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Which of the following domains 1s used for - profit businesses
Bod aE° DEDS ergraf aarordd GNarhiTeh

Options :

| = -het

- .edu

com
3.9

4 w -OIZ
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The final stage of evaluation is
aﬁaﬁ@vfﬂsoééméﬁ DH6 515030

Options :

Assigning grades
Bhes AREO

1. %

Administration of test

. % Efflué :‘Utﬁtgﬁjvoiﬁéo



Interpretation of result

3 % PDe)) arggrglodotio
Feedback
v 209
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Which of the following are the goals of higher education ?
eSSt dodh &8 Dogoguen (Bod TS DB ?

Access
0tDETEN

ii. Equity
STV o)

iii. Quality and Excellence
Teeages Spbain (HarEs0

iv. Value based Education
é’i’z‘fje%o

v. Compulsory free Education
DendHos® Erésd g,

Select the correct answer from the code given below

Options :
1. 11 and v

| 1. 11 50Bcim v
111, v and vi
111, v 508650 vi

1. i, iii. iv and v
3 i, 11, 1ii. 1V $08c%0 v

1, il iii. iv. v and vi
1. 11, 111, 1V, v $08cn vi
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Assertion (A): Umiversalisation of elementary education (UEE) in India 1s still
a myth while considering some of the under developed districts in India
SBFES(A): DmdS (@re5enE D5y (UEE)

PBSBFosED E°R) Shgadd fepoid HioddHd sos° S}Jiﬁsﬂvﬂ &ob. Reason
(R): The low Socio economic status of parents 1s the main reason for wastage
and stagnation in elementary education.

s=5e0(R): éddothe f'_'agsé TR éﬂ?{gé}é (aE5ans Desgesd sye B
Denshtiod seteaibl) Seniuob

Options :
Both A and R are true and R is the correct explanation of A

SothA 0bdiw R $56ahd subdiw R oub A8 20W DDHBes
1.+

Both A and R are true but R is not the correct explanation of A
BoH A 8o R $83@$3 Hbcin R oI A 8 885 ddbes s0th

2. ®
A is true but R is false.
- A 235950 R &m(@o &35y
A 1s false but R is true.
e Ae_ﬁa’)j 5o8) R&a’:na):
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In higher education. students are best motivated through
&S 3363565 &}mﬁeﬁgw SHre (202080808 so8mo

Options :

competition
é)ﬁééé%o

1. %

personal achievement
) ?Jogd:b%lﬁf,ﬁzé

co-operation
Sy sLla b

Individual attention
4w HBKS 580D
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The test in which examinee’s scores is compared with the scores of other
members of the same group to which an examinee belongs to is known as
HOgS® @mﬂgﬁoﬂﬁééa 28 DHoesFN8 o mEhe éﬁﬁé&]gﬁ DB IPE (Bob NG
B8 BoBNBrrBHEN

Options :

Criterion referenced test

| x o o I8

Norm referenced test
[2oadresir D)8 D8R
2.

Performance testing
éUDJaé ) ‘.fjé}goiﬁaéa

Standardized test
L% (arardE D8N
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The home page of a website 1s generally referred to
Website Gn#) home page Se&irigorr 6D Do
Options :

Main page
AL VSV D8

1. %
First page
S o SOES D
Last page

s % D50 D

Colourful page

Bothe e
4. ®
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The portion of Vedas that deals with rituals 1s known as
Sored® Boderio swrore (rituals)&? Sozoord) B 6D

Options :



Mantras
|« SDo(Eren

Brahmanas
Eagspaags

Aranyakas
eBeagseen

Upanishads
G00hen
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Metaphysics 1s a branch of
©b Fasago (Metaphysics) Bod &08% e.dzp

Options :
Physics
g8 Fgo

Meta-ethics
whda FHo

Philosophy

1 & FTHo

Epistemology
2R A0
g% ¥ =
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Who established the first experimental psychological laboratory?
(SHeoore 5335533%5 &) (Sarnared %ﬁgﬁ}o&éaé&?

Options :

Sigmund Freud
ook (gron&
1. % ’



B.F.Skinner
B.F. ?0&26&_5

2. %

Evan Pavlov
3 % =55 PSS

Wilhelm Wundt
4 8]5230@ 3085
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Who advocated the creation of a classless society?
DPBerS Hrreed) K DoDRTHD?

Options :

August Comte
e_eﬁ% o508

Plato
et

Karl Marx

s so86) é}vﬁgjﬁ\]

M.K.Gandhi

4% M.K. meob
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Which is the inquiry into “being in general’
Do sotr’ 96038 o8 ?

Options :

Ontology

Dése Derdan
Ly @

Physics

) % g°88 ago

Epistemology

] o
3 % c,_.aj\/) 'EU@D



Ethics
5Ha %D@o
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Which of the following is not a category in Gagne’s learning hierarchy?
& (Botd adwss arB8E° e egiidar BarS BS5r08 3osIB 267

Options :

Chain learning
fPentn eifddo

1. %
Symbolic Learning
8508 ogiddo
2.
Concept Learning
3 % gradid eglsidiso
Problem solving
L% Haoakg HBapBo
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Wolf Gang Kohler was associated with ......... school of psychology
?@E‘E‘J reson Epe5 & é:ﬁﬁga&_;:aé T FEFeH HowofodEaE.

Options :
Social Psychology

FirRE HS P8 FTFo
1. ®

Gestalt Psychology
ﬂﬁéfg é}ﬁsgag:?)é 5,0
2. ¢

Industrial Psychology

. FoTE DT PepdE ayo

Educational Psychology
4. %
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The “Law of Effect” was coined by
S8 SrleR) SrEPobdtD J5H?

Options :
Skinner

| % ﬁ}&ff&ﬁ
Pavlov
Kohler

3 % &9%50e5
Thorndike

v TBaGE
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Who identified definite stages for growth of intelligence?
DD 33603?:.3 @fu&;e’}}é&% Bdeh drdodd 3D%T?
Options :
E.L. Thurston
EL. #8555

Jean Piaget
A5 Hoira

Jerome S. Bruner

J.B. Watson
I.B. 52555
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Assertion (A): In collaborative learning, the students are found to be actively
engaged and are contributing for the betterment of group interest.
[58EREH(A): Hiesed @3%?6265633@’5 3)::50563&33 Hthdrre erdio é@oé ore
&2EB5.

Reason (R): In competifive learning method individualistic in nature and self-
centred without any social obligation.
so80(R): 2880 é&r}oﬁ ogfidae éz‘.géi% BisTab BV Tala E}‘Soﬁ:: ﬁo@cﬁj@é&.m
Qa0 D&Y (BY S5
Options :

Both A and R are true and R 1is the correct explanation of A.
| % CotH A bBain Radp bain R A8 5858055

Both A and R are true but R is not the correct explanation of A. Soth A

" a0Bain Redp s0bain R A 8 38:0 &8s so&.

A 1s true but R is false.

3 % A aspsed R &5p

A is false but R is true.

A 85pse0 R 2.55p
4. %
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Extension education is understood as
DJBes DD (Bod Dgore eBo 3&05‘%&3{35&)
Options :

extending new knowledge to the door step of those who need it
JHBES Hoeeid DepSsin ©BIEI» 8 HESSE Difgdobiinod

extending educational opportunities to the deprived
QBB JrgsrEen BPOBBR %}36‘5 &B° ards® DHoB0b

a programme for educating the farmers

SeHFch el wobod usd BES Dovy s
3 % B = 5 5%

education meant for the spread of knowledge among villagers
NP0, epari)) rineeH Hodtd D= s e
4. @ L S =
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What is the mode of calculating numbers by computers?
Boeseab o zﬁcge"_%eﬁﬁ @08 HBosHhid?

Options :

Decimal
L GH&S

Hexa

s |
o P 5™
2. ® o

Octal
eseS
3.8 °

Binary
B0
4.
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Ethics 1s related to ------------ as ontology is related to metaphysics
DdzHEw. ... Somohodigs eotrod( ontology) ©b F8E &Ko
Options :

Axiology
Dendie FHo
v

Cosmology
soﬁvé 2

2. %
Idealism

3 % OOBERSHD

Metaphysics
b F°88 Qo
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Who is the father of modern Empiricism?
Bod 786° DtH ethHE eiidaroedd (Empiricism) Haedhdoed

Options :



John Locke
28 o8
1.+

David Hume
TAbA Tl 5’_.“1}‘0553
2. ®

Rene Descartes
33 &55@5

3. %
Immanuel Kant
4 % aa‘):aémg)e? 5085
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The theory of innate ideas was first propounded by
B3e5shore wos8E grare ?cmgoavﬁcg_ (2BarHoNHE DS8?

Options :

John Locke

L% S oS

Spinoza

2\ Shazm
2. % &

Descartes
585
&

3.9

David Hume
o6 5’3“:50553
4. %
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‘Tabula rasa’ is the concept of
Corareds’ o grdd B8 Bobsd

Options :
Idealism
@tﬁtﬁgaﬂ:ﬁm

1. %

Cosmology
s her



Empiricism

s @diNato
Pluralism
, mﬁ%ﬁé&mdo
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Which philosopher emphasizes on the need for aesthetics as one of the aims of

education
DSBSEE FPotsByomd ﬁé%{g&é‘s 2.80rre HbKdomreai?

Options :

Tagore

L [oiTavLlo)

Gandhiji

5 % ok

Aurobindo
. [SleTAle]nMAY

Vivekannda
4 % Daseidothtd
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Who is known as the father of Gestalt psychology?
RPS HSDepd FZo G D@t

[AEA) =
Options :
Kurt Koftka
5 S5
1.¢

J. B Watson

_ IB. o558

Kurt Lewin
85 895
3. @ £



Wolfgang Kohler
e&ymsoh 88pb
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Who i1s the pioneer contributor to Cognitive Psychology?
Soepard)s SHSHE; TR0 Hd SNBSE?
Options :
Jean Piaget

SHE o

Wolfgang Kohler
sdyvsoh 8586

2. %

Noam Chomsky
S mﬁnf&@r

Lawerence Kohlberg

L% TR E"?@eﬁ&}g
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The modern psycholinguistic theory was developed by

a8 oK grabhgroad) (modern psycholinguistic theory)
)0 BDHBHB?
Options :

Noam Chomsky
S WEJ?J&

Jerom S.Bruner
26 S. (26

MecClelland
SrE8erol

David Ausubal
EIE =53
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Abraham Maslow and Carl Rogers are the propounders of .........
oEEDEEE Hochn =58%:6) rerobodds HB?

Options :

Developmental psychology
S0 @Rt TYSw

1. %

Biological psychology

) % DoirorRES HdKHE] FFo

Humanistic psychology

|, SrsSe SishEmgo

Educational psychology
DTegEnRdRS FHo
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Name the topology in which computers are connected along a single cable.
2833 Eoxggeob Hord Bewes gD gDy B HBERS topology
@l ©otrtH?
Options :
Star
1w RS

Bus

=
) e

Hierarchical
3 % aPB0HBYE

Mesh

43363-@
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Which one of the Theory of intelligence advocates the presence of general
intelligence “g” and specific intelligence s’ ?

@:Oﬁ@ﬁ;ﬁm{;}}ozﬂvﬂﬁjﬁng' %mém{{;g@&cﬁﬂvs'@égéig}%m&m&oﬁjé)?
Options :

Cattells” Fluid Intelligence
sy @SrontiHyg

Guildford’s Sol model
A .‘f.-% Sol 3ris

Spearman’s two factor theory
%gdﬁS&E&ésvéﬁ}Q;oéén

Vernon's hierarchical theory

L% 565&5’&300136&?0:5505&)}
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Who Self-actualization was proposed by as highest in need hierarchy
©8) Fgralsn edyHEDs $rss efdtorr IPAS5H?
Options :
Carl Rogers
L% 586 8°£°5)

Abraham Maslow
2. J @@:}05) EﬁJ“E}fSE

Sigmund Freud
- ool (Frond

William James
DDcHS 2
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Evaluation that monitors learning progress is
©gEHS BHRSD Srd0b T Hreesssn

Options :



Placement evaluation
DODOES BorergoBiin

1. %

Formative evaluation

e Zﬁmﬂvéoééaﬁm
2.

Diagnostic evaluation
65‘.6305653 Sreers08R5am

Summative evaluation
}’Joéa}éaﬁm@goéém
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Mean. Median and Mode are:
088N, oeigresin, ersogEsin ©a0
Options :

Measures of deviation

. LD HEDRswen
1.

measures of central tendency
) éo@dﬁn@é VSTV

Ways of sampling
- (B8 Sororen

Measures of variation

Dabo|es )& Soesdiamen
4. %
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Research 1s a process involving
HBEED HBHS® mind A

Options :

Searching for truth that already exists
L% aéhjéé 608 8D &) S=) @353105650



Arriving at solution to any problem in a meaningful way
2.8 o808 JenigH SBaroed)) SrHto

Working in a scientific way to search for truth of any problem

B85 HOTNE Phoh HBS° e Iaht
3.9

Scientific thinking and arriving at a solution

. FHOHDE wEbIEE® HoarBo SrHiko
4.
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A research paper 1s a brief report of research work based on
588555 Blgo ©IO 2.8 HBEES VHOE, ©b HBESHE% Bod wodod

e SE Ao,
Options :

Primary Data only

[EranE Sarodo SrE
1. %

Secondary Data only
APes Barodo Hr(Esh

2. ®

Both Primary and Secondary Data

(6°¢5808 HHbcsn e Bolod Karodren eprdhdcinethi
3.¢

introspection and intuitive thinking
wo&: H88ud HBAH S35 B TR
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Who is considered to be the father of Artificial Intelligence?
ge (g (Artificial Intelligence) £ SHarshiod JB5H?
Options :

Allen Mcdonald
| x & 653155“@365

Allen Turing
, ¢ ©BS érgboh



Charles Babbage
=05 wBE

3. %

Tim Berners-Lee
4% B 56&5‘:]@3
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Inductive logic proceeds from:
estizhs SBzm B H08 HwothH FrHid

Options :

General to General

- Fortite 008 el

Particular to General
) (©EgERS ol Jprdes

General to Particular
- aeprdes od {}.’Jéegé@zé

Particular to Particular
s v BEERS o8 @D
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A short summary of a technical report is called
DB FoSBs’ Forod VBOED DH0ERS?

Options :
research article
HB8f TS0

research publication
B8 ErEHH bS5

research pamphlet
508 TS



research abstract

58888 arrorodsn
4.
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Which of the following refers to concurrent validity?
% 1BoD 08° 0HHHSreSH Hrdolbns?

Options :
Two tests are done at the same time and the validity co-efficient are worked out

Bots HBEen aBD B0l HBckH HHSre Koes Q) Dahio

Two or more clinicians agree on the outcome and they determmne the validity
coefficient 55t % 25 ok Been HYD ofR) H5yBol) JHHEre sty
R 4 RBonodnio.

The items on the test consistenily relates to each other and the validity

coefficient are determined
s8Estn B e5weRd as8 @tﬁorio & B0l SEire ey
3 % Rgonodriec.

The notation that scores on a test correlates highly with scores from the test
that measure the same attribute
a8 ofernd Jdomobod Hogsmaho, éee;;&rﬂ;éo a’iﬁ._;tjam whs é#momﬂb&_

4. % SR eosmom,
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Fundamental research aims at
[@rEnE 568 S e

Options :

immediate solution to a problem
So&d Ry HoarBo

application of theory for social benefit
FErLE (Bohind &HErA0D Sladel Ty

conducting short cohort study
AN ?.}6523‘30?5 56888 oo

generation of new knowledge and theory building

4 TRER K}&ﬁ;ﬂv&)& ”J)e)é:;&oiétﬁo 0B ?i}m;oaﬂéﬁa BreErofodtio
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The oldest method for study of behaviour is
[©H55:550( behaviour) egiehiso dahEod® sddrAod HorssHEa

Options :

Observation
L% 568ei8

Interview
£8:935)

Counselling
300(geaain

Introspection
os:H6408
4.
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If a child has a mental age of 5 years and chronological age of 4 years then what
will be his IQ?
a8 rend ardog HoHin) 5 o oren @&l Hahi) ‘4’ Hodsoren ©OonE
@& (P of dod ?
Options :

125

2. % 80

s v 120

4 100
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Benjamin S. Bloom developed which of the following?
BoadnS S. ard Bod 7065 322 58 Shaets?

Options :



taxonomy of cognitive skills based on a hierarchy of objectives
SoepardiE Jsherge $5688mH (ESrond A6 eogesgrdore

| v DB DR,

an approach to teaching based on operant conditioning and classical
conditioning
SeE5ResE DEods Hbdkn FRAH M0odS e 8765E Srdo Srdodard

2. %
problem-solving algorithm for teacher training and student development
3 % tsaregad BEem Hbdn Dogd DsearE Bibary B6aroeRs AferS (Bsn

quantitative measure of intelligence. both verbal and nonverbal for all cultures

4% o)) HobyfeH et lesndatital T, oTdE Hbirerdl [Ha Foiirdo
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John Dewey is considered as
aratirgone Bod Dfore HBKB0N adartD

Options :
rationalist
o orhard

realist
oﬁamga“&

idealist
@éd&-m&

pragmatist

3355808 Heward
4.
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Who is the founder of Idealism?
@éd&-mm&& 35330&-5& D?

Options :
Hegel

| S



Spinoza

25y Foaze
2. %

Plato

b
3o 8

Aristotle

&Uﬂﬂsﬁﬁ
4. %
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Justice Verma Committee is responsible for
m‘gﬁ D8 B 628 L5 DerodI
Options :

Women education of India
ESBE0S° D &S5

1. %

Youth education of India
et SR S0t aind g

2. %

Increased duration of B.Ed. course
B.Ed 8% &3S Dosio

Increased duration of LLB course
LLB &%) &r5058 Rodto

4. %
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The pragmatist criterion of truth 1s
BEDTOE Dewparthe (Heebsin J&gEn eodre

Options :
God
| x @S0

Perception
Eéej,énjéeﬁna

2. %



Workability

- HBA0é
Rationalist
y T e
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Rationalism and empiricism represent the-philosophy of times
TrdhardEn Hdcin ofgfard)E sressn (empiricism) < (8ob sPes) Sl
RAVEAlOTATNIA

Options :

Tonian
| % ©0IPRCHS

Medieval
Soegs, i

Contemporary
Hoseds

Modern
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Mind-body dualism is the position of
BBB0-ehesy) Bxdohiso Gng) LAY Hrl) DHBODBH
Options :

Charles Pierce
T80 5005y
1. %

John Dewey

) % B Erg00e

Descartes

= (=
- &‘ms‘@n}



Aristotle

@Baréd
4. % £
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The Yashpal Committee Report (1993) is known as .........
SHTErS End VF6E (1993) 2% & dFore LeodotHdod?

Options :

I.C.T. in Teacher Education
t%%mqogdﬁ} DEgS® ©.0.8

Learning without Burden
) 208 @355}6?60

Learning through Broad-casting
lerEeeoh moe 55

School in the bag

arlace) a}tgr‘i}éﬁﬁ
4. %
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Which of the following aspects is not discussed in a Teacher’s Diary?
aargraine Z66° (Bod 08" O wodo SBoSnESH?
Options :
Class Time Table
-~ S81S sroEs HOE

Teaching Content
) % S sarodsn

Day-to-day personal events

BeBRSDN Blarard Hogneds
3 o SHEED a8 Dogntrdden

Mid-day meal
4% AV AL ] HPaasim
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“Real is rational and rational is real” is the dictum of
“Kjdﬁmﬂgﬁ) 'ﬁjﬂéaa)cgo—ﬁ}ﬂé}mdgﬂj ahergo” o3 §°5°8 33}&?65}

Options :

Hegel
1. ¥ Failalol

Spinoza
E%}‘Sﬁﬁ“

Berkeley
3 % 33533_)

Aristotle

®@BardS
4. % ©
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“‘Reverse the usual practice and you will almost always do right.” was the
dictum of
Argrdmore HATw Erd) ot HB0Eorr Ty b ward Slelys B0%E
o5 &858 IRETA
Options :

Mahathma Gandhi
é)ﬁéﬁéﬁvo{iﬁ

1. %

Dewey
5w GF5ONE

Rousseau

Plato

St
4. %
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Which kind of library promotes Informal self-education?
edohes ‘?JDSGSJ DSy o230 (Bod VS & [Kogrexsho Ao %ﬂfﬁgbﬁn?



Options :

National Library

L % 805 (Hogrechsm

Public Library

) (e (Mogredhain

Specific Library
- L}.’Jééé@_ﬁé [opredhain

College Library

4% Bgedre) [Hopredhsiin
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“Giving facilities to as per their needs and requirements™ is
88 edIoR) 28 é@aoz‘.ﬁaﬁ Shehei Bob DeHore JnDs
Options :
Equity
..,I_\
L ST VL o)

Brotherhood
) % ReA e LAV D)

Equality

Stveeiatad
3. % o

Democracy
4% (sdezeaeeEingo
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Assertion(A): A measuring tool may be a reliable one but may not be a valid one

[H8REH(A): B0F Sosirdo (tool) HEIVHE KO sofPdy) o JHErens

S05E B

Reason(R): Validity includes reliability and not vice versa s°8eso(R):
D(eiarraaH 3}5;{3:'?30336_’9 SoEHs) =00 ab( vice versa) 2.8 o8 HEPEH Jiim LAY

Options :



Both A and R are true and R is the correct explanation of A.
| v BotH A Bt Radp 60 R el AB 3538 9586

Both A and R are true but R is not the correct explanation of A.
5 % 00t A Bdin R ey bain R o368 A8 $85 Dddem ==

A 1s true but R is false.
5 & Ay R&SGy

A is false but R is true.
A &5p Readp
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Promotion of an employee to higher post due to acquisition of qualification is
anexampleof ...

2.8 &5‘555‘1 i %SHD?JQ oo HRTASE 580 ®SH HoarHoDD D Sen
B8 &wrseSes

Options :

Vertical mobility

Dengd FrHdedo
LY = @

Horizontal mobility
5 OO0 08 PSJeso
2. [= ®

Circular mobility
3 & el JdSoso

Diagonal mobility
g8oerof arddedo
4. % B e
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Which of the following was created for the co-ordination and maintenance of

standards in higher education?
&S 3)6556‘5 T°ERges 8%50 % (BoB :’JGQES{’ 2adieh HBD QomED S0Hed50

Options :
| » NCERT



, % SCERT
, » UGC

Higher Education Information System Project
&) &55615 HHrael DESes 2§

4. %
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Which one of the following is not an element of mastery of learning?
8 (Bod a0S° Srofds ©adsH Bosd HB?
Options :
Use of alternate text-book
| % (D5 ch HREo artio

Alternate methods of teaching
([SemgEirnyah s Kjigéaen

Child-centred learning activity
s @ B8o|BS wgfidar BEgo

Group teaching
4w FeErE CARaT!
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Who is associated with the didactic apparatus?

Ge8E e5y0e% (didactic apparatus) @36 2568 Honofodde?
Options :

Froebel
1. * e

Montessori
éﬁo&‘iﬁé
2.

Dewey

cﬁ}‘jgcmv

3. %



Aristotle

L% @Bﬁ;&:@
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Pragmatism believes in the basic postulates of
Bg50E Samardo & (EE [HBarSHelh Siysob

Options :

liberating the self from the soul
es&f) Hod ?oéxé:?éa Erothes

salvation or moksha from this world
SHDNodo Hos DH0ED groth

sympathizing to human sufferings and entanglements

3 ¥ HrRsye ertien, wdoomre HE) DS

Learning by doing as a way of life

. 258 Dprido e @gfHs
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The three main divisions of philosophy are metaphysics. epistemology and ......
S8 FHoE™ Hrth Tyen: «bFBE FHo, (epistemology) e Ko HBAD- -
Options :

Sociology

- Ry iyt Q0

Anthropology
H5% B0

Cosmology
503%@*53

Axiology
dendier FFo
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Correct Marks : 2 Wrong Marks : 0

A syllabus may be best conceived as
Doy HerdE BHAET 0 sdorr Ererofodds

Options :

A means for preparing the students for an examination

- @m&sﬁg@é} ééﬁ@é} é'-’;}cgo = S0P ToOrT

The contents of the subject to be tanght to students

é@%@oﬁﬁ@ Dcirodineih Joghed SooHes
2. % 3

A means for student’s intellectual development
abi . cb
. Sjwuédojéi Bggdo 3B daimere SNl Al

As a means helpful for the all-round development of the students
4 Sjmﬂgﬁge_n éé}{pﬂ&é@@% Empsne smgy seBBorT
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In order to help an educationally backward child. it is necessary for a teacher
S]tﬁé@‘s ISEHG S)m&ﬁfg@éj DiEBoe 65*0@565:13{5,3 Smggore JaHBess

Options :

To skip such students

| = @orof Heeid é@oﬁ;gﬁéﬁﬁédo

To refer him to other competent teachers

, % worof) Do [H8erad wond eareydind P IFHSEo

To find out the cause of his backwardness

e dorgoen Do DA’ BhodadneDs seoresed)) S8EEo
3.¢ -

To punish the staxdents for his backwardness
a0 ScnBarétn K08 0N B§odtio
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Gandhiji’s philosophy of education gives stress on
meobyd Dergedy TPo 3°8) B‘ﬁ}{:,&

Options :



Social aims of education

3)655-&553.) Hiees OFen
1. % .

Education for intellectual advancement
) @’}&;&é@%% DergasEgEes

Education for cultural advancement
éoéﬁ‘gﬁ%é &9&5’3&@% g ES

Education for moral and character development
388 SO0 SerPihs DugHELLES
4.
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Which one of the following conditions stimulate the teachers to teach?
[BobardE® & D@0l aarurgaint 8o §HoSwR8 &08Bo%M?

Options :

New and challenging topic

L v 2.8 5°8 B FrBORT $06 arTegoden

Old and non-challenging topic
2.8 a8 HHBA B0 S0l arogodRn

2. %

When the Head master roams around the classes?
\ @'}mosﬁauggcﬁm SB8B Ko étﬁéﬁgod)ét’.gtﬁ)

When the parents are coming to the school

L Dorgthe SDBolthen FBTOH SNV,
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The best evidence of the professional competency of a teacher is seen in his
ability for:
2.8 &roaindE® $)8 Sl S (HEE SosYo

Options :



Maintaining strict discipline in the class
S558 KBS PYNIEDS (BB aHoHDHD

Providing leadership of a professional nature
B DBHS TrahBersd)) @ohIDED

Organizing co-curricular activities
Srardy sedyEsred DrodiSH

Maintaining high standards of instruction

&es &8 &S (Darmren ArH0NHHD
4.
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The author of the book ‘Deschooling Society’ 1s
‘Deschooling Society’ed (5o SSons
Options :
Joseph J.Schwab
| x E25 AR

Ivan Illich

2ar0 80d
2.

David Cayley
3 % GOE 528

Ralph W. Tyler
L% oody W. 8eb
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Students who ask questions in the class should be
SBKaE (SHen ©8&3 DogiioH e S5

Options :

Advised to meet the teacher after the class
S5158 Farosto aargrsaind Soddard

1. %



Encouraged to participate in the discussion in the class
5 % SB88 aﬁiﬁbjeﬁﬁ @U@jﬂ Dijore Pamiromed

Encouraged to continue asking questions

s @ Qodto Bl Bfameromrd

Encouraged to search answers independently

4% Ss8riSone saraen IS8 Samerosed
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Who developed the Interaction Analysis Category System in education for
increasing the teacher effectiveness?
DB f{)éa’laaﬁﬂa: 3’3@% é%ﬂmvécﬁnﬁl— Hesae (BgrarR) Boesds 2SS é’ejl%’
BHerth?
Options :
Flander
L arotsb

Rayvon
i)

Amidon and Simon
e 0BG DS

Richard Over.
55@5%5

4. %
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Who is the father of Educational Psychology?
DTrg, @558)%326 TR0 GnE) e WiSB?
Options :

J.H. Pestallozzi

2.375. Dared
1.+ .

Jean Piaget
2. 3 ég g}(ﬁj‘jé



Sigmund Freud
;% QIfof (gronk

J. S. Bruner

4 % 2.00 .[ardb
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“Man is born free but every- where he 1s in chains™ who said this ?
R e fa&anljﬁv ac‘f)éo&aﬂtij 50 H8SE w88 poford @ JRaHH?

Options :
Abraham Maslow
oEFD SrHed
1. ®

Jean Jacques Rousseau

John Dewey

- E"E(ﬁ]"é@.}j"

W.H. Kilpatrick
W.H. 8&arg\ 86

4. %
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Which of the following psychologist is associated with Trait theory of
Personality?
o) Eﬁaﬁaé)es;é THHE ofrod SurdHnd Qgposrs Somotio Seth?

Options :

Allport
| x el

Sheldon
2 % 31%}5
Jung

3, % S



Kretschmer

4 v B

Question Number : 139 Question Id : 51714413533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Observational method is suitable for
Sodome 558 BB eHIH

Options :

Cognitive abilities
e y— Dy
Rdoez mégé By, B’)JO%ED

Child's personality traits

) 3:-;;;&}&55 éﬂgaﬁléé Déﬂﬁ‘?o@@

Changing environment of the child
5 % 2R AEHEN) HOJooED

Changing attitude of the child
4w DPHIER) Dgen Splen
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Who is the father of Psychoanalysis?
8% 9F%BS D J55?
Options :

Erik H. Erikson

QBE TPH. LB

Jean Piaget
£8 Dairz

Jerome S. Bruner
265 S. (@56

Sigmund Freud

Lo PIol (gron&
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Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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According to John Locke. a child’s mind does not contain any
‘PRl $0HB0d Domp Hshs® DB S0kt

Options :

Memory
epads €8
o —o

1. ®

Imagination
&3arodto
2. %

Observation

568005%0
3.¢

Innate ideas

4% &voégé grE&en
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Exclusive educational channel of IGNOU is known as: (IGNOU)
“o“ﬁ":; 850 @’Jéa?séom aJT)éD i Dorg IO

Options :

Gyan Darshan

o B850
1o RN

Gyvan Vani

2o s
=y

SWAYAM
";050530

Prasar Bharati
0 et
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Extension education is understood as
D5)BRS DegH o Dejore @go 3(‘0%%15{3?



Options :

Extending new knowledge to the door steps of those who need education
% D ©5BoKe 088 D) epaedy a0 558 Stsoye
1. Y @ %

Extending educational opportunities to the deprived communities in a village
) % reos® Hared8 DLy T 8% 68 woridahio

A programme for educating the farmers through farm lesson

BheH Frerdd SmoBod srere awoe Hsdobod seEEio
3. ¢

Education meant for the spread of knowledge among villagers

. (edoenerd® 2Ry grae) 30 D3
4,
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Which of the following statements is correct?
Bob 7°0&° & HHSHo DD ?

Options :

Education 1s an art

e ©ab 2.8 &8
1. #

Education is a science

, % D, 2.8 FPo

It 1s neither an art nor a science
D a8 BE soth Fgsn 5.

3. %

To some extent it is an art and to some extent it is a science

|, od 555 D6 w88¢ o0 by PodSEH TR Ty
4.
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A scoring guide used to evaluate the quality of students

3)50563093’5 e Eess Surergosd Joined 6 Kerosee RE
@ |-

Options :

Rubrics
1, e



Cumulative records
é}é&:éﬁﬁ 65968153
2. %

Anecdotal record

3 @ B e stffgm

Check list

. % 3B Dipen
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Conflict Theory 1s also known as
Sozndee deposed)) S DForr Erd Henarh

Options :

Theory of capitalist
énadord Larodsin
1. % o @
Behavioristic theory
(S8 horodsin
2. % = [~}

Theory of economic determinism

b8 Dordies wTroan
3 J @ [] [A]

Functionalist
4 S°O5EGmarh
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Assertion (A): Continuous and Comprehensive Evaluation (CCE) 1s a modern
trend in the assessment of students learning outcomes.

(SPSS(A): DBoSE Bkl Hurersosbsn Dorgiie edfidar el Hio)

T ol SPED 858

Reason (R): Knowing the learner thoroughly is the basic principle behind CCE
se8esin(R): eogrgdog ?’.gjﬂgﬁgom@ﬁ OHMPS B Sredrgo CCES®

XA NN

Options :

Both A and R are true and R is the correct explanation of A.
|« B0 A:HBain Re.djp shbain R ‘A’ 8 588 D58



Both A and R are true but R 1s not the correct explanation of A.
) % BotH A s06adin R 2.5y sbBain ‘R ‘A’ 8 388 Db st

is true but R is false.

A
2 % A as)p =0 R 85y

A 1s false but R is true.
L% Ae‘_%qu 58 R"’wgg}}
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Which of the following statements are correct about deemed universities?
éﬁjﬁ DEDoswcired Sonofod Bob [HSSTred® D6 HBDHH?
1. The Governor of the State is the Chancellor of the deemed universities
oo K55 A5 D¥Homedired Hond
i1. They can design their own syllabus and course work
T 0 dng) Do e (syllabus)dh basn £ #55% a0
S05rth DB othH
111. They can frame their own guidelines regarding admission and fee
BasreH Hbcn HeroH Somofodsd a’ajnfrﬁjcﬁé%svws’m 790 208P0H0DH
BPothth

iv. They can award degree on their own.
) Elfien o0 b FHEoHH

Select the correct answer from the code given below
Options :
1, 11, and ii1
1, 11, 5nBcsm 111
1. %
i1, 111, and 1v
5 o 11,111 $oBdso 1V

1. 1il, and iv
. 1, ili 5080w iv

1, 11, 111 and 1v
i, 11, i1 HBa%w iv

4. %
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Purpose of evaluation 1s to make
SarrersoB 5 Sasn ééégo

Options :

Decision
g:]UngfU“Q)J Hgdond

1. ®

Prediction
2%K8 G 0 &lrosio
2. %

Judgement

- @Efooj &)é&iﬁo

Opinion
@farairl)) dedo
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Education comes under which list of Indian constitution?
oremgsoiiEn (Beedo g o8 ©@0¥0 Bod IS O rderd FobHH?

Options :

Union list
| ® Soli erdae

State list
% o308)
2. o CF@ asriler

Concurrent list

ﬁcﬁ)@&: 2z )ee
3. i

Consonance list

éé}é@oai‘() ad)ee
4. %



